
          
  Name:                                                My Math Homework – 4                 Date: 

Monday Tuesday Wednesday Thursday 
Find the product. 

  18 x 524=  
Find the product. 

16 x 48=   
 

Find the product. 

103 x 91=  
Find the product. 

91 x 548=  

Find the quotient. 

             
   12 ) 996 

Find the quotient. 

                
   15 ) 1,230 

Find the quotient.  
                
    8 ) 544 

Find the quotient. 

                   
     7 ) 1,106 

Find the sum. 

      22.66 
  +    1.40      
 

Find the difference. 

      29.22 
  –  27.54    

Find the sum. 

  88.51+4.8=  
Find the difference. 

   16.98 – 11.08= 
            

<, >, or = 

33.88 _____ 33.80 
 

62.90 _____ 62.09 
 

<, >, or = 

99.01_____ 99.10 
 

55.405____ 55.045 

<, >, or = 

31.010_____ 31.01 
 

49.220_____ 49.22 

<, >, or = 

10.001_____ 10.01 
 

20.10_____ 20.1 
 

Solve. 

(7+5) ÷ 6 + 102 
 

Add parenthesis to the 
expression below. 

63 – 15 + 4 x 5  
 

Solve. 

4 [5 (12+3) –2] –7 
 

Write two expressions 
where the solution is 4. 

 
 

Find the factors. 
Prime or Composite? 

16:   
 

Find the factors. 
Prime or Composite? 

21:  
 

Find the factors. 
Prime or Composite? 

42:  

Find the factors. 
Prime or Composite? 

83:  
 

Order the numbers from 
greatest to least. 

56.01, 56.10, 56.011 
 
 

Order the numbers from 
greatest to least. 

44.012, 44.102, 44.120 
 
 

Order the numbers from 
greatest to least. 

6.002, 6.200, 6.020 
 
 
 

Order the numbers from 
greatest to least. 

73.05, 74.01, 73.50 
 
 

What is the value of the 
underlined digit? 

5,678.321 
 

What is the value of the 
underlined digit? 

5,678.321 
 

What is the value of the 
underlined digit? 

5,678.321 
 

What is the value of the 
underlined digit? 

5,678.321 
 

Find the Product. 

8 x 8=  
7 x 7=  
8 x 9=  
9 x 9=  
7 x 6=  

Find the Product. 

 
   12       12       12       12 
x 10     x  1   x 0.1   x0.01 
 

Find the Product. 

 
     6        6          6         6 
x 10    x  1    x 0.1  x 0.01 
    

Find the Product. 

 
   33     33      33        33 
x 10   x  1   x 0.1   x0.01 
  

Solve. 
7.4 x 1 =  
7.4 x 10 =  
7.4 x 100 =  
7.4 x 1,000 =  

Solve. 
45.3 ÷ 1 =  
45.3 ÷ 10 =  
45.3 ÷ 100 =  
45.3 ÷ 1,000 =  

Solve. 
3.28 x 10  =  
3.28 x 102 =  
3.28 x 103 = 
3.28 x 104 =  

Solve. 
73.1 ÷ 10  =  
73.1 ÷ 102 =  
73.1 ÷ 103 =  
73.1 ÷ 104 =  
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My Work 
Monday 

 
 
 
 
 

 
 
 
 

Tuesday 

Wednesday 
 

 
 
 

 
 
 
 

 

Thursday 

 

My Progress 
MONDAY 

# of questions _____ 
# correct _____ 
I need more help 
with… ______________ 
_____________________ 
_____________________ 
_____________________
_____________________
_____________________ 

TUESDAY 
# of questions _____ 
# correct _____ 
I need more help 
with… ______________ 
_____________________ 
_____________________ 
_____________________
_____________________
_____________________ 

WEDNESDAY 
# of questions _____ 
# correct _____ 
I need more help 
with… ______________ 
_____________________ 
_____________________ 
_____________________
_____________________
_____________________ 

THURSDAY 
# of questions _____ 
# correct _____ 
I need more help 
with… ______________ 
_____________________ 
_____________________ 
_____________________
_____________________
_____________________ 
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Monday Tuesday Wednesday Thursday 
Find the product. 

  18 x 524= 9,432 
Find the product. 

16 x 48=  768 
 

Find the product. 

103 x 91= 9,373 

Find the product. 

91 x 548= 49,868 

Find the quotient. 

            83 
   12 ) 996 

Find the quotient. 

               82 
   15 ) 1,230 

Find the quotient.  
               68 
    8 ) 544 

Find the quotient. 

                  158 
     7 ) 1,106 

Find the sum. 

      22.66 
  +    1.40     24.06 
 

Find the difference. 

      29.22 
  –  27.54   1.68 

Find the sum. 

  88.51+4.8= 93.31 
Find the difference. 

   16.98 – 11.08= 
           5.9 

<, >, or = 

33.88   >   33.80 
 

62.90   >   62.09 
 

<, >, or = 

99.01   <   99.10 
 

55.405  >  55.045 

<, >, or = 

31.010   =   31.01 
 

49.220   =   49.22 

<, >, or = 

10.001   <   10.01 
 

 20.10    =    20.1 
 

Solve. 

(7+5) ÷ 6 + 102 
102 

Add parenthesis to the 
expression below. 

63 – 15 + (4 x 5) 
 
 

Solve. 

4 [5 (12+3) –2] –7 
285 

Write two expressions 
where the solution is 4. 

 
 
 

Find the factors. 
Prime or Composite? 

16:  1, 2, 4, 8, 16 
composite 

Find the factors. 
Prime or Composite? 

21: 1, 3, 7, 21 
composite 

Find the factors. 
Prime or Composite? 

42: 1, 2, 3, 6, 7, 14, 
21, 42   composite 

Find the factors. 
Prime or Composite? 

83: 1, 83 
prime 

Order the numbers from 
greatest to least. 

56.01, 56.10, 56.011 
 

56.10, 56.011, 56.01 

Order the numbers from 
greatest to least. 

44.012, 44.102, 44.120 
 

44.120, 44.102, 44.012 

Order the numbers from 
greatest to least. 

6.002, 6.200, 6.020 
 

6.200, 6.020, 6.002 
 

Order the numbers from 
greatest to least. 

73.05, 74.01, 73.50 
 

74.01, 73.50, 73.05 

What is the value of the 
underlined digit? 

5,678.321 
ones 

What is the value of the 
underlined digit? 

5,678.321 
Hundredths 

What is the value of the 
underlined digit? 

5,678.321 
Thousands 

What is the value of the 
underlined digit? 

5,678.321 
thousandths 

Find the Product. 

8 x 8= 64 
7 x 7= 49 
8 x 9= 72 
9 x 9= 81 
7 x 6= 42 

Find the Product. 

 
   12       12       12       12 
x 10     x  1   x 0.1   x0.01 
  120       12     1.2    0.12 

Find the Product. 

 
     6       6          6            6 
x 10   x  1     x 0.1    x 0.01 
   60        6       0.6      0.06 

Find the Product. 

 
   33     33      33        33 
x 10   x  1   x 0.1   x0.01 
 330      33     3.3     0.33 

Solve. 
7.4 x 1 = 7.4 
7.4 x 10 = 74 
7.4 x 100 = 740 
7.4 x 1,000 = 7400 

Solve. 
45.3 ÷ 1 = 45.3 
45.3 ÷ 10 = 4.53 
45.3 ÷ 100 = .453 
45.3 ÷ 1,000 = .0453 

Solve. 
3.28 x 10  = 32.8 
3.28 x 102 = 328 
3.28 x 103 = 3,280 
3.28 x 104 = 32,800 

Solve. 
73.1 ÷ 10  = 7.31 
73.1 ÷ 102 = .731 
73.1 ÷ 103 = .0731 
73.1 ÷ 104 = .00731 
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